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(1) 240 + 30 = 40 + (1) 140 + 28 = =+
(2) 80 +I6; + (|2)|8O+3O; -
(3) 200+25; - (13) I80+36; -
() '50+25; - <|4>2|o+35; =
(5) 80 +20; - (15) 320 + Ié; -
(6) 420+2|; - (l6)24O+I6; +
(1) 480 ~ |6; - (17) 320+64; -
(8) 360+45; - (18) 480+24; +
(9) '20+24; + <|<7>360+|2; -
(10) 280 = |4; - (20) 240+48; +
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() 240 -~ 30 =40 + 5 (1) 140 -+ 28 =20 + 4

(hoNBE0IBE6THS) 8 (BN HEHETTHS) 5

2 80 = 16=20+ 4 (12) 180 = 30 =30+ 5

(POENBEDLEEELTHS) 5 (BN HEHE6THS) 6

3) 200 - 25 =40+ 5 (13) 180 = 36 =20 - 4

(hoNBEHIEESTHS) 8 (hoNBEHIBEITHS) 5

4) 150 =+ 25 =30+ 5 (14) 210 =35 =30+ 5

(hoNBEHEEESTHS) 6 (hoNBEHIBETTHS) 6

) 80 =20=20—+ 5 (15) 320 - 16 =40 = 2

(BN 0EEE4THS) 4 (boNBEHEEE8THS) 20

6) 420 = 21 =60 + 3 (16) 240 =~ 16 = 30 =+ 2

(BoNBEHIEETTHS) 20 (boNBEHEEE8THS) I 5

(7) 480 - |6 =60 + 2 (17) 320 - 64 = 40 + 8

(PN 0EEE8THS) 30 (boNBEHEEE8THS) 5

8 360 = 45 =40 + 5 (18) 480 +~ 24 = 60 = 3

(PENBEHBEETTHD) 8 (BoNBEH2EE8THS) 20

@ 120 =24 =20+ 4 (19) 360 - 12 =60 =+ 2

(PENBEHBEE6THD) 5 (PoNBEHEEEOTHS) 30

(10) 280 = |4 = 40 = 2 (20) 240 = 48 = 30 - 6

(PENBEHBEETTHD) 20 (DoNBEHEEESTHS) 5
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